

International Journal of Mathematical Analysis
Vol. 9, 2015, no. 48, 2377 - 2385
HIKARI Ltd, www.m-hikari.com
<http://dx.doi.org/10.12988/ijma.2015.59219>

A Reduction Formula for the Appell Series F_3 in Two Variables

J. C. Prajapati

Faculty of Technology and Engineering
Marwadi Education Foundation Group of Institutions
Rajkot-360003, India

J. Choi*

Department of Mathematics
Dongguk University
Gyeongju 780-714, Republic of Korea

* Corresponding author

B. P. Patel

Department of Mathematics
N.V. Patel College of Pure and Applied Sciences
Vallabh Vidyanagar, India

P. Agarwal

Department of Mathematics
Anand International College of Engineering
Jaipur-303012, India

Copyright © 2015 J. C. Prajapati, J. Choi, B. P. Patel, P. Agarwal. This article is distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract

A large number of double series in two variables, in association with the theory of hypergeometric series, have been classified and fully developed with named after their discoverers, for example, Appell series and their confluent cases, and various generalizations of these series in two variables. Here, in this paper, by starting with the classical Beta function, we show how one can derive a (presumably) new and (potentially) useful reduction formula for the Appell series F_3 in two variables. Among many things, some interesting special cases of our main result are considered and relevant connections of some results presented here with those earlier ones are also pointed out.

Mathematics Subject Classification: 05A10, 33B15, 33B99, 33E20

Keywords: Gamma function; Beta function; Pochhammer symbol; Generalized binomial series; Appell series; Hypergeometric series; Double series manipulations; Combinatorial identities

1 Introduction

Motivated by the enormous success of the theory of hypergeometric series in a single variable, a large number of double series in two variables have been classified and fully developed with named after their discoverers, for example, Appell series and their confluent cases, and various generalizations of these series in two variables (see, *e.g.*, [1, 2, 3, 7, 8, 9, 11, 12]). In this paper, by starting with the classical Beta function, we aim to show how nicely one can derive a (presumably) new and (potentially) useful reduction formula for the Appell series F_3 in two variables. Among many things, some interesting special cases of our main result are considered and relevant connections of some results presented here with those earlier ones are also pointed out.

Throughout this paper, let \mathbb{C} , \mathbb{Z} , and \mathbb{N} denote the sets of complex numbers, integers, and positive integers, respectively, $\mathbb{Z}_0^- := \mathbb{Z} \setminus \mathbb{N}$ and $\mathbb{N}_0 := \mathbb{N} \cup \{0\}$. For our purpose, we begin by recalling the Gamma function $\Gamma(z)$ developed by Euler which is usually defined by (see, *e.g.*, [10, Section 1.1])

$$\Gamma(z) = \int_0^\infty e^{-t} t^{z-1} dt \quad (\Re(z) > 0). \quad (1)$$

The Beta function $B(\alpha, \beta)$ is a function of two complex variables α and β ,

defined by (see, *e.g.*, [10, Section 1.1])

$$B(\alpha, \beta) = \begin{cases} \int_0^1 t^{\alpha-1}(1-t)^{\beta-1} dt & (\Re(\alpha) > 0; \Re(\beta) > 0) \\ \frac{\Gamma(\alpha)\Gamma(\beta)}{\Gamma(\alpha+\beta)} & (\Re(\alpha) < 0; \Re(\beta) < 0; \alpha, \beta \in \mathbb{C} \setminus \mathbb{Z}_0^-). \end{cases} \tag{2}$$

The widely-used Pochhammer symbol $(\lambda)_\nu$ ($\lambda, \nu \in \mathbb{C}$) is defined, in general, by (see, for details, [12]; see also [10, p. 2 and p. 5])

$$\begin{aligned} (\lambda)_\nu &:= \frac{\Gamma(\lambda+\nu)}{\Gamma(\lambda)} \quad (\lambda \in \mathbb{C} \setminus \mathbb{Z}_0^-) \\ &= \begin{cases} 1 & (\nu = 0; \lambda \in \mathbb{C} \setminus \{0\}) \\ \lambda(\lambda+1)\cdots(\lambda+n-1) & (\nu = n \in \mathbb{N}; \lambda \in \mathbb{C}). \end{cases} \end{aligned} \tag{3}$$

The following generalized binomial series is well-known:

$$(1-z)^{-\alpha} = \sum_{k=0}^{\infty} \frac{(\alpha)_k}{k!} z^k \quad (|z| < 1). \tag{4}$$

For an easier reference, the following familiar double series manipulations are recalled (see, *e.g.*, [4]; see also [8, pp. 56-57]):

$$\sum_{n=0}^{\infty} \sum_{k=0}^{\infty} A(k, n) = \sum_{n=0}^{\infty} \sum_{k=0}^n A(k, n-k) \tag{5}$$

and

$$\sum_{n=0}^{\infty} \sum_{k=0}^n B(k, n) = \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} B(k, n+k). \tag{6}$$

2 A Reduction Formula for a Double Series in two variables

Here we present an interesting and (presumably) new formula for a double series in two variables, which is decomposed into two single series, asserted by the following theorem.

Theorem 2.1. *Let $x, y \in \mathbb{C} \setminus \{0\}$, and $p, q \in \mathbb{C}$ with $\max\{|x|, |y|\} < 1$ and $\min\{\Re(p), \Re(q)\} > 0$. Then the following formula holds true:*

$$\begin{aligned} &\sum_{k, n=0}^{\infty} \frac{(p)_k(q)_n}{(p+q)_{k+n}} x^k y^n \\ &= \frac{1}{x+y-xy} \left(\sum_{k=0}^{\infty} \frac{(p)_k}{(p+q)_k} x^{k+1} + \sum_{n=0}^{\infty} \frac{(q)_n}{(p+q)_n} y^{n+1} \right). \end{aligned} \tag{7}$$

Proof. We begin by using (2) to find that

$$B(p+k, q+n) = \frac{\Gamma(p+k)\Gamma(q+n)}{\Gamma(p+q+k+n)} = \int_0^1 t^{p+k-1}(1-t)^{q+n-1} dt, \quad (8)$$

where p and q satisfy the stated conditions, and $k, n \in \mathbb{N}_0$. Multiplying both sides of (8) by $x^k y^n$, where x, y, k and n satisfy the stated and given conditions, we have

$$\frac{\Gamma(p)\Gamma(q)}{\Gamma(p+q)} \frac{(p)_k (q)_n}{(p+q)_{k+n}} x^k y^n = \int_0^1 t^{p-1}(1-t)^{q-1} (xt)^k [y(1-t)]^n dt. \quad (9)$$

Taking double summations of (9) about the variables k and n from 0 to ∞ , we obtain

$$\begin{aligned} \frac{\Gamma(p)\Gamma(q)}{\Gamma(p+q)} \sum_{k=0}^{\infty} \sum_{n=0}^{\infty} \frac{(p)_k (q)_n}{(p+q)_{k+n}} x^k y^n \\ = \int_0^1 t^{p-1}(1-t)^{q-1} \sum_{k=0}^{\infty} (xt)^k \sum_{n=0}^{\infty} \{y(1-t)\}^n dt, \end{aligned} \quad (10)$$

in which, with the stated conditions, the interchange of summations and integration may be verified. Interpreting the two inner series on the right-side of (10) into the well-known geometric series, we get

$$\begin{aligned} \mathcal{L}(p, q; x, y) &:= \frac{\Gamma(p)\Gamma(q)}{\Gamma(p+q)} \sum_{k=0}^{\infty} \sum_{n=0}^{\infty} \frac{(p)_k (q)_n}{(p+q)_{k+n}} x^k y^n \\ &= \int_0^1 \frac{t^{p-1}(1-t)^{q-1}}{(1-xt)\{1-y(1-t)\}} dt. \end{aligned} \quad (11)$$

Considering the following partial fraction:

$$\frac{1}{(1-xt)\{1-y(1-t)\}} = \frac{1}{x+y-xy} \left(\frac{x}{1-xt} + \frac{y}{1-y(1-t)} \right)$$

into the right-hand side of (11) and applying the geometric expansion, we find

$$\begin{aligned} \mathcal{L}(p, q; x, y) &= \frac{1}{x+y-xy} \int_0^1 \left(\frac{x}{1-xt} + \frac{y}{1-y(1-t)} \right) t^{p-1}(1-t)^{q-1} dt \\ &= \frac{1}{x+y-xy} \left(\sum_{k=0}^{\infty} x^{k+1} \int_0^1 t^{p+k-1}(1-t)^{q-1} dt \right. \\ &\quad \left. + \sum_{n=0}^{\infty} y^{n+1} \int_0^1 t^{p-1}(1-t)^{q+n-1} dt \right). \end{aligned} \quad (12)$$

Applying (2) to (12), we obtain

$$\begin{aligned} \mathcal{L}(p, q; x, y) &= \frac{1}{x + y - xy} \left[\sum_{k=0}^{\infty} B(p + k, q) x^{k+1} + \sum_{n=0}^{\infty} B(p, q + n) y^{n+1} \right] \\ &= \frac{1}{x + y - xy} \left[\sum_{k=0}^{\infty} \frac{\Gamma(p + k)\Gamma(q)}{\Gamma(p + q + k)} x^{k+1} + \sum_{n=0}^{\infty} \frac{\Gamma(p)\Gamma(q + n)}{\Gamma(p + q + n)} y^{n+1} \right], \end{aligned}$$

which, in view of (3), is easily seen to yield the desired result (7). □

The identity in (7) is observed to be expressed in terms of some known special functions given in the following theorem.

Theorem 2.2. *Let $x, y \in \mathbb{C} \setminus \{0\}$ with $\max\{|x|, |y|\} < 1$ and $p, q \in \mathbb{C}$. Then the following decomposition formula holds true:*

$$\begin{aligned} F_3 [p, q, 1, 1; p + q; x, y] \\ = \frac{1}{x + y - xy} \left(x {}_2F_1(p, 1; p + q; x) + y {}_2F_1(q, 1; p + q; y) \right), \end{aligned} \tag{13}$$

or, equivalently,

$$\begin{aligned} F_3 [p, q, 1, 1; p + q; x, y] \\ = \frac{x(1-x)^{-p}}{x + y - xy} {}_2F_1 \left(p, p + q - 1; p + q; \frac{x}{x-1} \right) \\ + \frac{y(1-y)^{-q}}{x + y - xy} {}_2F_1 \left(q, p + q - 1; p + q; \frac{y}{y-1} \right), \end{aligned} \tag{14}$$

where $F_3[\cdot]$ is one of the four Appell series in two variables (see, e.g., [11, p. 23]) defined by

$$\begin{aligned} F_3 [a, a', b, b'; c; x, y] \\ = \sum_{m,n=0}^{\infty} \frac{(a)_m (a')_n (b)_m (b')_n}{(c)_{m+n}} \frac{x^m y^n}{m! n!} \quad (\max\{|x|, |y|\} < 1) \end{aligned} \tag{15}$$

and ${}_2F_1(\cdot)$ is the familiar hypergeometric series defined by

$${}_2F_1 \left[\begin{matrix} \alpha, \beta; \\ \gamma; \end{matrix} z \right] = \sum_{n=0}^{\infty} \frac{(\alpha)_n (\beta)_n}{(\gamma)_n} \frac{z^n}{n!} = {}_2F_1(\alpha, \beta; \gamma; z) \quad (|z| < 1). \tag{16}$$

Proof. From (7), it is easy to prove (13). For (14), an application of the following Euler transformation for ${}_2F_1$:

$${}_2F_1(\alpha, \beta; \gamma; z) = (1-z)^{-\alpha} {}_2F_1 \left(\alpha, \gamma - \beta; \gamma; \frac{z}{z-1} \right) \tag{17}$$

to the two ${}_2F_1$ in (13) is easily seen to yield (14). □

3 Special Cases and Remarks

We begin by recalling a known reduction formula for the Appell series F_3 (see, e.g., [11, p. 301, Entry (88)]):

$$\begin{aligned}
 &F_3[p, q, 1, 1; p + q; x, y] \\
 &= \frac{x(1-x)^{-p}}{x+y-xy} {}_2F_1\left(p, q; p+q; \frac{x}{x-1}\right) \\
 &\quad + \frac{y(1-y)^{-q}}{x+y-xy} {}_2F_1\left(p, q; p+q; \frac{y}{y-1}\right).
 \end{aligned} \tag{18}$$

The formulas (14) and (18) are immediately seen to be same except for the second numerator parameters in ${}_2F_1$. The formula (7) (and so (13) and (14)) is sure to be correct, since the process of its proof is correct and, further, some special cases of it yield certain known formulas, as shown in examples below. So the formula (18) should be corrected as the one in (14).

A large number of special cases of (7) can be presented by suitably choosing the parameters p, q and the variables x, y . Here we choose to consider only some examples.

Example 1. Let $x, y \in \mathbb{C} \setminus \{0\}$ with $\max\{|x|, |y|\} < 1$. Then we have

$$\sum_{k,n=0}^{\infty} \frac{1}{(k+n+1) \binom{k+n}{k}} x^k y^n = -\frac{\log\{(1-x)(1-y)\}}{x+y-xy}. \tag{19}$$

Proof. Setting $p = q = 1$ in (7) gives

$$\begin{aligned}
 \sum_{k,n=0}^{\infty} \frac{(1)_k(1)_n}{(2)_{k+n}} x^k y^n &= \frac{1}{x+y-xy} \left(\sum_{k=0}^{\infty} \frac{x^{k+1}}{k+1} + \sum_{n=0}^{\infty} \frac{y^{n+1}}{n+1} \right) \\
 &= \frac{1}{x+y-xy} \left(\sum_{k=1}^{\infty} \frac{x^k}{k} + \sum_{n=1}^{\infty} \frac{y^n}{n} \right) \\
 &= \frac{-\log(1-x) - \log(1-y)}{x+y-xy}.
 \end{aligned}$$

□

Example 2. Let $x, y \in \mathbb{C} \setminus \{0\}$ with $\max\{|x|, |y|\} < 1$ and $p \in \mathbb{C}$ with $0 < \Re(p) < 1$. Then we have

$$\begin{aligned}
 \sum_{k=0}^{\infty} \sum_{n=0}^{\infty} \frac{(p)_k(1-p)_n}{(k+n)!} x^k y^n &= F_3[p, 1-p, 1, 1; 1; x, y] \\
 &= \frac{1}{x+y-xy} (x(1-x)^{-p} + y(1-y)^{-1+p}).
 \end{aligned} \tag{20}$$

Proof. Setting $q = 1 - p$ in (7) yields

$$\sum_{k,n=0}^{\infty} \frac{(p)_k(1-p)_n}{(k+n)!} x^k y^n = \frac{1}{x+y-xy} \left(x \sum_{k=0}^{\infty} \frac{(p)_k}{k!} x^k + y \sum_{n=0}^{\infty} \frac{(1-p)_n}{n!} y^n \right),$$

which, in view of (4), proves the desired result. □

Example 3. Let $p, q \in \mathbb{C}$ and $n \in \mathbb{N}_0$. Then the following formula holds true:

$$\frac{1}{(p+q)_n} \sum_{k=0}^n (p)_k (q)_{n-k} = \sum_{k=0}^n 2^{-n+k-1} \frac{(p)_k + (q)_k}{(p+q)_k}. \tag{21}$$

Proof. Taking $y = x$ in (7) and using the geometric series expansion, we obtain

$$\begin{aligned} \sum_{k=0}^{\infty} \sum_{n=0}^{\infty} \frac{(p)_k (q)_n}{(p+q)_{k+n}} x^{k+n} &= \frac{1}{2(1-\frac{x}{2})} \sum_{k=0}^{\infty} \frac{(p)_k + (q)_k}{(p+q)_k} x^k \\ &= \frac{1}{2} \sum_{n=0}^{\infty} \frac{x^n}{2^n} \sum_{k=0}^{\infty} \frac{(p)_k + (q)_k}{(p+q)_k} x^k. \end{aligned}$$

Then we have

$$\sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{(p)_k (q)_n}{(p+q)_{k+n}} x^{k+n} = \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{(p)_k + (q)_k}{2^{n+1} (p+q)_k} x^{n+k}.$$

Applying the double series manipulation (5) to both sides of the last identity, we obtain

$$\sum_{n=0}^{\infty} \frac{1}{(p+q)_n} \sum_{k=0}^n (p)_k (q)_{n-k} x^n = \sum_{n=0}^{\infty} \sum_{k=0}^n \frac{1}{2^{n-k+1}} \frac{(p)_k + (q)_k}{(p+q)_k} x^n,$$

which, upon equating the coefficient of x^n , yields the desired identity. □

Example 4. The following combinatorial identity holds true:

$$\sum_{k=0}^n \frac{1}{\binom{n}{k}} = \frac{n+1}{2^n} \sum_{k=0}^n \frac{2^k}{k+1} = \frac{n+1}{2^{n+1}} \sum_{k=1}^{n+1} \frac{2^k}{k} \quad (n \in \mathbb{N}), \tag{22}$$

which is a known formula recorded, for example, in [6, Entry (2.25)].

Proof. Taking $q = p$ in (21), we get

$$\frac{1}{(2p)_n} \sum_{k=0}^n (p)_k (p)_{n-k} = \sum_{k=0}^n 2^{-n+k} \frac{(p)_k}{(2p)_k}, \quad (23)$$

Setting $p = 1$ in (23) yields

$$\frac{1}{(2)_n} \sum_{k=0}^n (1)_k (1)_{n-k} = \sum_{k=0}^n 2^{-n+k} \frac{(1)_k}{(2)_k}.$$

Or, equivalently,

$$\frac{1}{(n+1)} \sum_{k=0}^n \frac{k!(n-k)!}{n!} = \sum_{k=0}^n 2^{-n+k} \frac{1}{k+1},$$

which, after a little simplification, is led to the formula (22). \square

Example 5. Let $p, q \in \mathbb{C}$ with $p + q \in \mathbb{C} \setminus \mathbb{Z}_0^-$ and $n \in \mathbb{N}_0$. Then the following formula holds true:

$$\sum_{k=0}^n (-1)^{n-k} (p)_k (q)_{n-k} = \frac{(p)_{n+1} + (-1)^n (q)_{n+1}}{p + q + n}. \quad (24)$$

Proof. The identity here can be established in parallel with the proof of (21), by taking $y = -x$ in (7). So its detailed account is omitted. \square

Example 6. Let $p \in \mathbb{C}$ with $p \in \mathbb{C} \setminus \mathbb{Z}_0^-$ and $n \in \mathbb{N}_0$. Then the following formula holds true:

$$\sum_{k=0}^{2n} (-1)^k (p)_k (p)_{2n-k} = \frac{(p)_{2n+1}}{p + n}, \quad (25)$$

whose special case $p = 1$ yields the following combinatorial identity:

$$\sum_{k=0}^{2n} \frac{(-1)^k}{\binom{2n}{k}} = \frac{2n+1}{n+1} \quad (n \in \mathbb{N}_0). \quad (26)$$

It is noted that the identity (26) is a special case of a known formula [6, Entry (2.1)].

Proof. Setting $q = p$ in (24) and replacing n by $2n$ in the resulting identity proves (25). \square

References

- [1] G. E. Andrews, R. Askey and R. Roy, *Special Functions*, Encyclopedia of Mathematics and Its Applications 71, Cambridge University Press, Cambridge, London and New York, 1999. <http://dx.doi.org/10.1017/cbo9781107325937>
- [2] Yu. A. Brychkov, *Handbook of Special Functions, Derivatives, Integrals, Series and Other Formulas*, CRC Press, Taylor & Francis Group, Boca Raton, London, and New York, 2008.
- [3] Yu. A. Brychkov and N. Saad, On some formulas for the Appell function $F_2(a, b, b'; c, c'; w; z)$, *Integral Transforms Spec. Funct.*, **25** (2014), no. 2, 111-123. <http://dx.doi.org/10.1080/10652469.2013.822207>
- [4] J. Choi, Notes on formal manipulations of double series, *Commun. Korean Math. Soc.*, **18** (2003), no. 4, 781-789. <http://dx.doi.org/10.4134/ckms.2003.18.4.781>
- [5] H. Exton, *Multiple Hypergeometric Functions and Applications*, Halsted Press, 1976.
- [6] H. W. Gould, *Combinatorial Identities*, Revised Edi., Morgantown, West Virginia, 1972.
- [7] A. P. Prudnikov, Yu. A. Brychkov, O. I. Marichev, *Integrals and Series*, Vol. 3, More Special Functions, Gordon and Breach Science Publishers, 1990.
- [8] E. D. Rainville, *Special Functions*, Macmillan Company, New York, 1960, Reprinted by Chelsea Publishing Company, Bronx, New York, 1971.
- [9] J. Riordan, *Combinatorial Identities*, John Wiley and Sons, Inc., New York, London, and Sydney, 1968.
- [10] H. M. Srivastava and J. Choi, *Zeta and q-Zeta Functions and Associated Series and Integrals*, Elsevier Science Publishers, Amsterdam, London and New York, 2012.
- [11] H. M. Srivastava and P. W. Karlsson, *Multiple Gaussian Hypergeometric Series*, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto, 1985.
- [12] H. M. Srivastava and H. L. Manocha, *A Treatise on Generating Functions*, John Wiley and Sons, New York, Ellis Horwood, Chichester, 1984.

Received: September 17, 2015; Published: October 23, 2015